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S OTCES100 Prmgrawving SETP1E for win3z

* HOW TO BUILD
* cl wtep.epp wsock3Z2.1lib
w i

$#include <stdio.h>
#include <winsock.h>

int main{int argc, char®* argv(])
{
WSADATA data;
SOCKET sock:
truct linger Linger;
struct sockaddr_in addr;

if f{arge != 2} |
printf("usage: wtep <IP ADDRESS>\n");
exit (1);

S* Imitialize windows
WSAStartup (0x0101, s&dat

/* Create socket */f

if ({sock = socket(AF INET, SOCK STREAM, 0)) == INVALID SOCEET) {
fprintf (stderr, "Error socket(): %d\n", WShGetLastError({)):
exitil);

1

/* Bet connection timeout *f
Linger.l onoff 1:
Linger.l linger = &

setsockopt (sock, S0L_SOCKET, 30 LINGER, (char*)&linger,sizeof({struct linger));

/* initizlize the parameter */

memset (taddr, 0, sizeofladdr));
addr.sin_family AF_INET:

addr.sin port = htons{3100);

addr.sin addr.s addr = inet addr{argwv([1l]);

/* connect %/

if {(connect{sock, (struct sockaddr*)&addr, sizeoff{addrc)) < 0) |
fprintf (stderr, "Error connect{}: %d\n", WSAGetLastError({));
exit (1)

1

printf ("econnected\n");

/* zend data */
send{sock, “EPSON|n™, 6, 0);

/* gracefully close */

shutdown (sock, 1);:;/* S0 SEND*/

while (1} {
h buf [64];

1 = recvisock, buf, &4, 0);

ifi{n = SOCKET_ERROR| |n==0}
hreak;

}
shtdown (sock, 2Z):/*sD_BOTH*/S

/* close socket */
vclosesooket (sock)
return 0;

|
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/* TCP9100 programming sample for win32
* HOW TO BUILD
* cl wtcp.cpp wsock32.1ib
*/

#include <stdio.h>

#include <stdlib.h>

#include <string.h>

#include <winsock.h>

int main(int argc, char* argv[])
{
WSADATA data;

SOCKET sock;

struct linger Linger;
struct sockaddr_in addr;
char buf[64];

int n;

if (argc != 2) {

printf("usage: wtcp <IP_ADDRESS>\n");
exit(1);

}

/* Initialize windows socket */
WSAStartup(0x0101, &data);

/* Create socket */

if ((sock = socket(AF_INET, SOCK_STREAM, @)) == INVALID_SOCKET) {
fprintf(stderr, "Error socket(): %d\n", WSAGetLastError());
exit(1);

¥

/* Set connection timeout */

Linger.1l_onoff = 1;

Linger.1_linger = 60;

setsockopt(sock, SOL_SOCKET, SO_LINGER, (char*)&Linger, sizeof(struct
linger));

/* initialize the parameter */
memset(&addr, 0, sizeof(addr));
addr.sin_family = AF_INET;

addr.sin_port = htons(9100);
addr.sin_addr.s_addr = inet_addr(argv[1]);

/* connect */

if (connect(sock, (struct sockaddr*)&addr, sizeof(addr)) < @) {
fprintf(stderr, "Error connect(): %d\n", WSAGetLastError());
exit(1);

}

printf("connected\n");

/* send data */
send(sock, "EPSON UB-E@3\n", 13, 0);

/* gracefully close */
shutdown(sock, 1); /* SD_SEND*/
while(1) {

n = recv(sock, buf, 64, 9);

if (n == SOCKET_ERROR || n==90 ) {

break;

¥

}
shutdown(sock, 2); /*SD_BOTH*/

/* close socket */
closesocket(sock):
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/* TCPOLYY) programming sample for LINUX
* HOW TO BULLD

* cc ltcop.c

@ h>

ik . h>

lude «<std
#include <net

int main{int argc, cha
int sock;
struct sockaddr in addr;

if f(arge 2)
printf ("usage:
exit (1);

<ip address>\n"};

/* create socket ¥/

sack saocket (AF INET

if (sock < 0){
perror ("socket () ") ;
exit (1)

SOCK 5T

i

/% initialize the paramster #/
memset (faddr, 0, sizeafladdr)):
family * IMET

port

addr.s addr inat addr (argv[1]):

f* connect ¥/

ot (aock, (str sockaddr®) faddr, sizsofiaddr})} < 0}

nect {)");

"~

parroer |
printf ("connectedin™)

/* send data */

send(seck, "ERPSONA\Nn", &, 0):
/* close
close |

ket =/

return 4}
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/* TCP9100@ programming sample for LINUX
* HOW TO BUILD
* cc ltep.c
*/

#include <stdio.h>

#include <stdlib.h>

#include <string.h>

#include <netdb.h>

int main(int argc, char* argv[])
{
int sock;

struct sockaddr_in addr;

if (argc !'= 2) {

printf("usage: ltcp <ip address>\n");
exit(1);

}

/* create socket */

sock = socket(AF_INET, SOCK_STREAM, 0);
if (sock < @) {

perror("socket()");

exit(1);

}

/* initialize the parameter */
memset(&addr, 0, sizeof(addr));
addr.sin_family = AF_INET;

addr.sin_port = htons(9100);
addr.sin_addr.s_addr = inet_addr(argv[1]);

/* connect */
if (connect(sock, (struct sockaddr*)&addr, sizeof(addr)) < @) {
perror("connect()");

}

printf("connected\n");

/* send data */
send(sock, "EPSON UB-E@3\n", 13, 9);

/* close socket */
close(sock);




26—
B) BASOE TORBERCHL TREEHTLET,

ENfmll DFEF]

UB-EOQ3 [F. lpr/portS100 MZ70O ROiuchvhvi 5?,?@3&%%3&:&3 LTERERTOLE
T WEEC TM T U 25— (0 LT HIBID TR DIE, EIRER ER oS lDER T . thDERE=RE.
BHNERNIO—Z (A FCEDBETHHIO—ZF, TS ALAFSHCERI9O0—X) SNDET.
TF—FEENJOVITNED.

F)BAODETOERERICHLTEEEFTLET,



